
Č.bodu     Y               X      

 

1  Y = 887347.135       X = 1025256.909 

2  Y = 887351.041       X = 1025256.260 

3  Y = 887352.854       X = 1025251.709 

4  Y = 887356.761       X = 1025251.060 

5  Y = 887355.212       X = 1025305.543 

6  Y = 887359.119       X = 1025304.894 

7  Y = 887361.194       X = 1025301.921 

8  Y = 887365.100       X = 1025301.272 
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Č.bodu     Y               X      

 

11  Y = 887348.055       X = 1025257.567 

12  Y = 887350.383       X = 1025257.180 

13  Y = 887353.774       X = 1025252.367 

14  Y = 887356.103       X = 1025251.980 

15  Y = 887355.870      X = 1025304.622 

16  Y = 887358.198       X = 1025304.236 

17  Y = 887361.852       X = 1025301.001 

18  Y = 887364.180       X = 1025300.614 
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